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Question Number : 1 Question Id : 70819122084 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A radioactive sample is undergoing o decay. At any time L, its activity is A and another

time t,, the activity is TX What is the average life time for the sample ?

-

Options :
In5
t‘) 1'.1
70819171401. -
In(ty + t;)
70819171402. 2
.tz £

70819171403, In5

70819171404.

Question Number : 1 Question Id : 70819122084 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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th — 1
70819171401.

70819171402. 2

70819171403, In5

70819171404.

Question Number : 2 Question Id : 70819122085 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A : For a simple microscope, the angular size of the object equals the angular size
of the image.

Reason R : Magm‘f ication is achieved as the small object can be kept much closer to the eye
than 25 cm and hence it subtends a large angle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

20819171405, Both A and R are true and R is the correct explanation of A

70819171406, Both A and R are true but R is NOT the correct explanation of A

70819171407. A is true but R is false



20819171408, M 1S false but Riis true

Question Number : 2 Question Id : 70819122085 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819122086 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tuning fork A of unknown frequency produces 5 beats/s with a fork of known frequency
340 Hz. When fork A is filed, the beat frequency decreases to 2 beats/s. What is the frequency
of fork A ?

Options :

70819171409, 20 Hz



338 Hz

70819171410.

70819171411, 242 Hz
A7

70819171412, —x2 Hz

Question Number : 3 Question Id : 70819122086 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

70819171409, 222 Hz

70819171410, -8 Hz

70819171411, >4° Hz

47
70819171412, 32 Hz

Question Number : 4 Question Id : 70819122087 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Draw the output signal Y in the given combination of gates.

A : —t
O[T 2 34 5t Ae— ]
X
B : Be
0] 1 2 3 4 5 s

Options :

o 1 2 3 4 5 s
70819171413.

of 1 2 3 4 5 s
70819171414.

ol 1 2 3 4 5 ts)
70819171415.

of 1 2 3 4 5 ts)
70819171416.

Question Number : 4 Question Id : 70819122087 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

of 1 2 3 4 5 ¢ts)
70819171413.

of 1 2 3 4 5 ts)
70819171414.

ol 1 2 3 4 5 ts)
70819171415.

of 1 2 3 4 5 tp)
70819171416.

Question Number : 5 Question Id :

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

70819122088 Question Type : MCQ Option Shuffling : Yes Is



Given below are two statements :

Statement 1 ’ A second’s pendulum has a time period of 1 second.
Statement II [t takes precisely one second to move between the two extreme
positions.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819171417, Both Statement I and Statement 11 are true

70819171418. Both Statement I and Statement 11 are false

70819171419. Statement | is true but Statement Il is false

70819171420. Statement 1 is [alse but Statement 11 is true

Question Number : 5 Question Id : 70819122088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 70819122089 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If°C" and “V’ represent capacity and voltage respectively then what are the dimensions of A
where C/V=A7

Options :

[—27 31276
70819171421.[M G

f 3 413 7T/
70819171422, M "L 717 T']

i—2 413 77
70819171423. Lo e

f-11.-31-2T7-7
70819171424. B e

Question Number : 6 Question Id : 70819122089 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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M ZL HIZTE':
70819171421. [ |
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Question Number : 7 Question Id : 70819122090 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An aeroplane, with its wings spread 10 m, is flying at a speed of 180 km/h in a horizontal
direction. The total intensity of earth’s field at that part is 2.5 x 10~ * Wb/m? and the angle
of dip is 60°. The emf induced between the tips of the plane wings will be

Options :

70819171425, 108.25 mV

62.50 mV
70819171426.

70819171427, 5837 mV

] T
70819171428, ° 1129 m\

Question Number : 7 Question Id : 70819122090 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10 maR00NN BEw Ao a8 ASrdn §820d8 Jdroddorr 180 km/h SBE v .
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0% 050 grrred’ (3020508 emf :

Options :

70819171425, 10825 mV

62.50 mV
70819171426.

70819171427, 5837 mV

] g
70819171428, > 1122 m\



Question Number : 8 Question Id : 70819122091 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A cord is wound round the circumference of wheel of radius r. The axis of the wheel is
horizontal and the moment of inertia about it is . A weight mg is attached to the cord at the
end. The weight falls from rest. After falling through a distance 'h’, the square of angular
velocity of wheel will be :

Options :
2gh
70819171429.
2gh
[ + mr?
70819171430. gis
- 2mgh
[ + mr?
70819171431.
2mgh
2
70819171432, + 1 2M1

Question Number : 8 Question Id : 70819122091 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S |
70819171430, |t mr



2mgh

-
70819171431, L+ mu
2mgh
v
70819171432, | 1T 2mu

Question Number : 9 Question Id : 70819122092 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The trajectory of a projectile in a vertical plane is y=ox— px? where a and B are constants
and x & y are respectively the horizontal and vertical distances of the projectile from the
point of projection. The angle of projection 8 and the maximum height attained H are
respectively given by :

Options :
z
o
tan 1[_%, ey
20
70819171433.
.l( ; ) 2
tan 1|E fudl
al P
70819171434,
f.'l'.z
tan lt'l'.,, E
70819171435.
'—1:['!'.2
tan l(.'l'.,.
70819171436. B

Question Number : 9 Question Id : 70819122092 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
L
o
tan 1[3., 2—
70819171433, P
5 \I . 2
tan 1{_ -
\ax/ B
70819171434,
2
o
tan lu,, E
70819171435,
4{1‘.2
tan lct,
70819171436. P

Question Number : 10 Question Id : 70819122093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two masses A and B, each of mass M are fixed together by a massless spring. A force acts on
the mass Bas shown in figure. If the mass A starts moving away from mass B with acceleration
‘a’, then the acceleration of mass B will be :

«——@—— U000 —@
F B A
Options :
MF
F+ Ma
70819171437.
F+ Ma

70819171438, M



‘Ma —F

70819171439.

'F — Ma
M

70819171440.

Question Number : 10 Question Id : 70819122093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
~ MF
+ Ma
70819171437.
F 4+ Ma

70819171438, M

‘Ma —F

70819171439.

F — Ma
M

70819171440.

Question Number : 11 Question Id : 70819122094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : An electric dipole is placed at the centre of a hollow sphere. The flux
of electric field through the sphere is zero but the electric field is not
zero anywhere in the sphere.

Statement 11 If R is the radius of a solid metallic sphere and Q be the total charge
on it. The electric field at any point on the spherical surface of radius
r (<R)is zerobut the electric flux passing through this closed spherical
surface of radius r is not zero.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819171441 Both Statement 1 and Statement 11 are true

70819171442, Both Statement | and Statement Il are false

20819171443, Statement 1 is true but Statement 11 is false

70819171444. Statement | is false but Statement 1l is true

Question Number : 11 Question Id : 70819122094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B ANTeoen BEE WRETOD :

DB I: 2.8 g B sibods £%83 AP ol Dot Soeodaedy. F¥n o 34

&) DB B dariin TR), S s FEI Devd AGET oI S,

QBen I1: 2,836 R 0dosd &) fos By PGSy By Q wiB TIPS &)

) B Bk fe FPerseds) 68800 o HotoHNul Jtigs

i T 5, DB edariin, S S &) raRRSED Ko Aesdd &
¢ ¢ o

‘f'\

& J08)08 odEdh e o6
Options :

4 oy - i i i Gy
20819171441, Coth DIeeen HOAIHD



=
70819171442,

e
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70819171443.

Sy
70819171444,

Question Number : 12 Question Id : 70819122095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A scooter accelerates from rest for ime t, at constant rate a, and then retards at constant

t
rate a, for time t, and comes to rest. The correct value of t_l will be :
g e 2

Options :
a;
do
70819171445,
ay
d]
70819171446,
.':"!.1 { 3.2
d]
70819171447.
.al { El2
70819171448, 2

Question Number : 12 Question Id : 70819122095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



t

Options :

ar

dn
70819171445.

a

a
70819171446.

.al | Elz

dy

70819171447.

.al | El;';_

70819171448, 2

Question Number : 13 Question Id : 70819122096 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The internal energy (U), pressure (P) and volume (V) of an ideal gas are related as U=3PV +4.
The gasis:

Options :

monoatomic only.
70819171449. :

70819171450, diatomic only.

70819171451, Polyatomic only.

either monoatomic or diatomic.
70819171452,



Question Number : 13 Question Id : 70819122096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 70819122097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The recoil speed of a hydrogen atom after it emits a photon in going from n=>5 state ton=1
state will be :

Options :

70819171453, 34 m/s

70819171454, +17 m/s
325 m/s

70819171455.

9 m/s
70819171456.



Question Number : 14 Question Id : 70819122097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eSS 54 m/s
Options
70819171453, 34 m/s
70819171454, +17 m/s

325 m/s
70819171455.

219 m/s
70819171456.

Question Number : 15 Question Id : 70819122098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The length of metallic wire is I . when tension in it is T " It is Iz when the tension is Tz' The
original length of the wire will be :

Options:
L+ by
70819171457. 2
< S
T +Ty
70819171458. =
T~ Tl
T, - T

708191714509.



Tl — Ty

T, — Ty
70819171460. -

Question Number : 15 Question Id : 70819122098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options:
L+ 1y
70819171457. 2
Tk + Tib
T +Ty
70819171458.
T - Tols
T, - T
70819171459.  ~
Tk =Tl
Ty — iy
70819171460. :

Question Number : 16 Question Id : 70819122099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle executes S.H.M., the graph of velocity as a function of displacement is :
Options :

a circle.
70819171461.



a parabola.
70819171462.

70819171463, 20 ellipse.

a helix.
70819171464.

Question Number : 16 Question Id : 70819122099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819171461, == °¥
70819171462, °
70819171463, & =

2.5 ndadie
70819171464. G

Question Number : 17 Question Id : 70819122100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The incident ray, reflected ray and the outward drawn normal are denoted by the unit
.—3 l—) l—) & z .
vectors a, b and ¢ respectively. Then choose the correct relation for these vectors.
Options :
— ==
i — K

70819171465, D=



— | —

F=; Z{E‘C g

70819171466.
b=at2c
70819171467.
b=2a+c
70819171468,

Question Number : 17 Question Id : 70819122100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
.—3» — =3
b=a-c
70819171465.
b=a Z{a cl/c
70819171466.
— =3 -
b=a+2c
70819171467.
.—> — =3
b=2a+c
70819171468.

Question Number : 18 Question Id : 70819122101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Find the peak current and resonant frequency of the following circuit (as shown in figure).

TS
100mH g0

") V =30 sin 100t

P

120 0)
Options:

)
70819171469, > -+ and 50 Hz

70819171470, 0-2 A and 50 Hz

70819171471, 2 4 and 100 Hz

’j‘ ;
70819171472, 02 A and 100 Hz

Question Number : 18 Question Id : 70819122101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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() V =30 sin 100t

120

Options :

s I, il By nl B
70819171469, = 4 #2000 50 Hz



T OA EaE sl B
20819171470, -2 & #0&® 50 Hz

70819171471, 2 4 =002 100 Hz

17 A Bl -
70819171472, 02 A =00 100 Hz

Question Number : 19 Question Id : 70819122102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aninclined plane making an angle of 30° with the horizontal is placed in a uniform horizontal

electric field 200 % as shown in the f igure. A bod}-' of mass 1 kg_ and charge 5 mC is allowed

to slide down from rest at a height of 1 m. If the coefficient of friction is 0.2, find the time
taken by the body to reach the bottom.

3

[g=98 m/ % sin 3[]'J=%; oS 3[]”=?]

ey
E=200N/C

Options :

70819171473.

70819171474, 138

70819171475, 0-92s

70819171476, 208



Question Number : 19 Question Id : 70819122102 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g 8w sosolsn. 1kg ¢ oedio, 5mC E,Cfoém??:-a’a’m EORY a8 éﬁ-b::t,?& S Tm.
A8 S0k &5?&%&5153. At Sr dtorr {n@;& Koedsnd 02 DS S0y
o e S Sy BT SHEn
[g=9.8 m/s%; sin30°= l; cos3(° = ﬁ]
2 2
M
E=200N/C
1m

Options :

70819171473, > 8
70819171474, 135
70819171475, 9% S
70819171476, U408

Question Number : 20 Question Id : 70819122103 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Awireof1Q has a [ength of T m. Itis stretched till its Ic-ngth increases }.‘ﬁ, 25%. The
percentage change in resistance to the nearest mteger 15

Options :

o |:|'
70819171477, 07



»
70819171478, 0%

25%
70819171479. e

12.5%

70819171480.

Question Number : 20 Question Id : 70819122103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819171480.

Physics Section B

Section Id : 7081911013
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5



Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911293
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819122104 Question Type :

Correct Marks : 4 Wrong Marks : 0

SA

The zener diode has a ‘JZ =30 V. The current passing Lhmugh the diode for the foﬂowing

circuitis = mA.

4k
A
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il

o

o

90 V™5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819122104 Question Type :

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819122105 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

; 5
Time period of a simple pendulum is T. The time taken to comp[r_-tr_- g oscillations starting

. il SO | . 3
from mean position is —T. Thevalueofawis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819122105 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819122106 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The volume V of a given mass of monoatomic gas changes with temperature T according o

,..-.-Irq

the relation V = KT*
value of xis

. The workdone when temperature chmgos b}-‘ 00 K will be xR. The

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819122106 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819122107 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two stream of photons, possessing energies equal to twice and ten times the work function
of metal are incident on the metal surface successively. The value of ratio of maximum
velocities of the photoelectrons emitted in the two respective cases is x : y. The value of
X 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819122107 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

S A (DD Boloden DB 10 Béy ¥8 ZOAS Boddh Perd Hoedne
S . ETPd STvg 288 &8 edbodn B 885D ToBIYH JenSh P Jogde
LS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819122108 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

If the highest frequency modulating a carrier is 5 kHz, then the number of AM broadcast
stations accommodated in a 90 kHz bandwidth are

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819122108 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o 5 kHz @, 90 kHz el 9E6°

o i L 8
_*UWT eIt iy J)
a o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819122109 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In the reported figure of earth, the value of acceleration due to gravity is same at point
A and C but it is smaller than that of its value at point B (surface of the earth). The value of
OA: AB will be x : y. The value of x is

Earth

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819122109 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

JbdnE” Srad Adore e 8 CHE Hbdw e e A XK Ke ﬁofn‘-’;ﬁm Jenaien
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Jarisdn, 5o B (8 &508e) S8 Sol éé’q*&’, 2ondS OA: AB Dend x: V.
wJ J
®OoNS ¥ =

3200 km

Earth

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819122110 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0

1 mole of rigid diatomic gas performs a work of — when heat Q is supplied to it. The molar

J

i ’ i . g A
heat capacity of the gas during this transformation is ? Thevalueofxis .

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819122110 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819122111 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A point source of light 5, placed at a distance 60 cm infront of the centre of a plane mirror of
width 50 cm, hangs vertically on a wall. A man walks infront of the mirror along a line
parallel to the mirror at a distance 1.2 m from it (see in the figure). The distance between the
extreme points where he can see the image of the light source in the mirroris _____ cm.

S
50 7 e

60 cm

—_— 12
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819122111 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819122112 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle executes S.H.M. with amplitude ‘a" and time period ‘T". The displacement of the

particle when its speed is half of maximum speed is ¥*® . The value of xis __
2

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819122112 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819122113 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27 similar drops of mercury are maintained at 10 V each. All these spherical drops combine
into a single big drop. The potential energy of the bigger drop is __ _ times that of a
smaller drop.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819122113 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Chemistry Section A
Section Id : 7081911014
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911294
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819122114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
(Molecule) (Bond order)
(a) Ne, i 1
®) N, (i) 2
(@ F, (i) 0
d 0O, iv) 3

Choose the correct answer from the options given below :



Options :
70819171491, (a) — (1), (b) — (ii), (c) — (iii), (d) — (iv)

20819171492, (@ — (iv), (b) — (iii), (c) — (ii), (d) — (i)
70819171493, (@ — (ii), (b) — (i), (¢) — (iv), (d) — (ii)

20819171494, (@ — (iii), (b) — (iv), (¢) — (i), (d) — (i)

Question Number : 31 Question Id : 70819122114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lar-1 & erdor-115H =d8300508

eedae-1 sedae-1l
(we03d) (o (Eaosn)
(a) Ne, i) 1
b) N, (i) 2
(© F, (i) 0
d) O, (iv) 3
Bodl aihd m;')*stbf J0K esarenid QothE ol

Options :
70819171491, (a) — (1), (b) — (ii), (c) — (iii), (d) — (iv)

20819171492, (@ — (i), (b) — (iii), (c) — (ii), (d) — (i)
70819171493, (@ — (ii), (b) — (i), (¢) — (iv), (d) — (ii)

20819171494, (@ — (iil), (b) — (iv), (¢) — (i), (d) — (i)

Question Number : 32 Question Id : 70819122115 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The nature of charge on resulfing colloidal partides when FOCI3 is added to excess of hot
water 15 :

Options :

70819171495, POSTHVe

70819171496, nesative

70819171497, neutral

70819171498. sometimes pOSIT.I‘JD and sometimes I'IDBE!.L'LTJC'

Question Number : 32 Question Id : 70819122115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- - ] gahad VA Pot, Bl EOB e o B ol oo P P
258 I AES®° Fe(l, Soidio 2D&0rr 2B)Gd Sgront Sare add tgrdo:

Options :

70819171495.

70819171496. "¢

70819171497. it

70819171498.

Question Number : 33 Question Id : 70819122116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The correct order of electron gain enthalpy is :
Options :

70819171499, ©>5>5e>Te

70819171500, le>5e>5>0

70819171501, 2~ O >Se>Te

70819171502, ©>5e>Te>0

Question Number : 33 Question Id : 70819122116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
QYT (IS Qogrd)) BT Bk :

Options :

70819171499, ©>5>5e>Te

70819171500, 1e>5e>5>0

70819171501, © > O >Se>Te

70819171502, °>5e>Te>0

Question Number : 34 Question Id : 70819122117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1

List-1 List-11
(a) Siderite 1R
(b) Calamine (i) Ca
(c) Malachite (iii) Fe
(d) Cryolite (iv) Al
v) Zn

Choose the correct answer from the options given below :
Options :
20819171503, (@) — (1), (b) = (ii), (¢) = (v), (d) — (i)

70819171504, (@ — (i), (b) — (v}, (¢) — (i), (d) — (iv)

70819171506, (@) — (i), (b) — (i), (c) = (v), (d) — (i)

Question Number : 34 Question Id : 70819122117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

shae-12 =dar-11 & 2838508

edoe-1 erdae-11
(a) 2&BH Bl O
(b) s @) Ca
() SoreBed (iii) Fe
d)  E@0BES (iv) Al
v) Zn
Bodl mihd mTJHJS‘f.JEE WHOR earenid DoHs%a

Options :
70819171503, (@) — (1), (b) — (ii), () — (v), (d) — (i)

70819171504, (@) — (i), (b) = (v), (¢) — (i), (d) — (iv)



70819171506, (@) — (i), (b) — (i), (c) = (v), (d) — (i)

Question Number : 35 Question Id : 70819122118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following forms of hydrogen emits low energy 3~ particles ?
Options :

70819171507, Proton H*

Protium %H
70819171508.

Deuterium 2H
708191715009. 1

Tritium TH
70819171510.

Question Number : 35 Question Id : 70819122118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5] 1= £ " L = = & 5 o
~ BT S e B0 S el e g g e T 2 W T d
Sod 7HE° gl s WP0 9U)TS B~ Sgred &LrO0 LJ-."HU& ?

Options :

70819171507, °

BcHS 1H
70819171508.

70819171509.  °



Tey
ffﬁ:
£x
£
By

70819171510.

Question Number : 36 Question Id : 70819122119 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
(a) Sodium Carbonate (i Deacon
(b) Titanium (i) Castmer-Kellner
(c) Chlorine (i) wvan-Arkel
(d) Sodium hydroxide (iv) Solvay
Choose the correct answer from the options given below :
Options :
70819171511. (@) — (iv), (b) — (iii), (c) — (1), (d) — (ii)

70819171512, (@) — (i), (b) —= (i), (¢) — (ii), (d) — (iii)

70819171513, (@) —= (i), (b) — (iii), (c) — (iv), (d) — (ii)

70819171514, (@) — (iii), (b) — (ii), (c) — (i), (d) — (iv)

Question Number : 36 Question Id : 70819122119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



erdor-1 erdor-11
(a) Pécho sENRES (i &s8
(b) BerAHSD (i) =556 - Beyd
(c) E%8 (i) =% - @S
(d) P&abo TEFE (iv) >y
8o afd afsre 00 $B8 aTraid JoHE 0l
Options:
70819171511. (@) = (), (b) — (iii), (c) — (1), (d) — (ii)

70819171512, @) = (iv), (b) — (i), (¢) — (ii), (d) — (iii)

70819171513, @) = (). (b) = (iid), (¢) = (iv), (d) — (ii)

70819171514, (@) — (iii), (b) — (ii), () — (i), (d) — (iv)

Question Number : 37 Question Id : 70819122120 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which pair of oxides is acidic in nature ?

Options :

70819171515, 2203 5102

70819171516, 203 <20

N-O, BaO
70819171517, =

70819171518, €20 Si02



Question Number : 37 Question Id : 70819122120 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 = - y T
o) 238 TG en i) RFrHo Sod) ?

Options :

70819171515, 2203 5102

70819171516, 2203 A0

N-O, BaO
70819171517, =

70819171518, €20 Si02

Question Number : 38 Question Id : 70819122121 Question Type : MCQ Option Shuffling
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : In TlI,, isomorphous to Csl4, the metal is present in +1 oxidation
state.
Reason R ; T1 metal has fourteen f electrons in its electronic configuration.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
708191715109. Both A and R are correct and R is the correct explanation of A

70819171520. Both A and R are correct but R is NOT the correct explanation of A

70819171521. A is correct but R is not correct

70819171522. A is not correct but R is correct

Yes

:Yes



Question Number : 38 Question Id : 70819122121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

|Bod) Dot dNtesen \.mm ¥ &53). 2.8 AR %r‘d’\uoﬁu A &), 90858 =0 R 9l drdodalod
Ao A Cel & afRfrE)S fo TIL 6, Sy +1 68506 Y86 630
g
%00 R TI&*560 @) dopre daxnod® Jmmend f Jogrd &amon
i) e 3] (=} e ™ ol

2 Abew srrdorr, Bob adwred® 0N saraid dohBol
Options:

A 85w RTod {05 H0akn AS RPO0N Ddbes
70819171519.

20819171520, A #8Gin RBodh {830 570 A S R8BS Ddbes S°D

70819171521.

70819171522.

Question Number : 39 Question Id : 70819122122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calgon is used for water treatment. Which of the following statement is NOT true about
Calgon ?

Options:

70819171523 Calgon contains the 2"4 most abundant element by weight in the Earth’s crust.

70819171524. It is pol}-'meric compf}und and is water soluble.

70819171525, It is also known as Graham's salt.

2+ 4 k G
70819171526. It doesnot remove Ca=" ion by precipitation.



Question Number : 39 Question Id : 70819122122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= ad =1 - £ & £ Y _: = =]
SPOm o 8 SRS ST, Sow bon (Bod 88

7] a 3] =

(ol

Options :

70819171523.
70819171524, = s il

70819171525.

i @CirES H 95EHNSD ol 18d FoholSt.
70819171526. S

Question Number : 40 Question Id : 70819122123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ceric ammonium nitrate and CHCl,/ale. KOH are used for the identification of functional
groups present in ____and ____ respectively.

Options :

70819171527, alcohol, amine

70819171528, amine, alcohol

70819171529 alcohol, phenol

70819171530, amine, phenol



Question Number : 40 Question Id : 70819122123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
$8akn CHCl,/es0):5%08 KOH &8s _

Options:
[k :*'..‘ﬁ:
70819171527, &957%,
%5, wepsS
70819171528, ~°°~ @<

LI

Cin

70819171529.
,

70819171530, ~
Question Number : 41 Question Id : 70819122124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
4 )
CHy molecule, the hybridization of carbon 1, 2, 3 and 4 respectively,

Correct Marks : 4 Wrong Marks : 1

1 z 3
In CH, =C=CH

are :
Options :
sp>, sp>, sp, sp°

70819171531,
3 3 3
70819171532, P 7 5P 57+ 5P

o) J 3
70819171533, F 7 ¥ 57 5P

sp% sp, sp°, sp°

70819171534.



Question Number : 41 Question Id : 70819122124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 i o 4 : - .
CHy;=C=CH-CH; &° 1,2,3 50805 453 o J05058m0 Ssrr
Options:

sp2, sp?, sp2, sp°
70819171531, P A

3 5
70819171532, °F 7 5P V- 5P

o) J 3
70819171533, F 7 ¥ 57 5

sp2, spo, sp2, sp°
70819171534, Py ¥

Question Number : 42 Question Id : 70819122125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2) CrOy, 773 K
O 10=20abm

Considering the above reaction, the major product among the following is :
Options :
CH,CH,

70819171535.

70819171536.



COCH,CHj

CH,
CH;

70819171537.

CH,CH,CH,

70819171538.

Question Number : 42 Question Id : 70819122125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2)Cr,05, 773K
O 10- 20 atm
2 CR% ESinits! mé‘ﬂ'j;:ﬁ"m ;
Options:
CH,CH,
70819171535.
COCH,CHj
70819171536.

70819171537.



CH,
CH;

CH,CH,CH,

70819171538.

Question Number : 43 Question Id : 70819122126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}f A in the given reaction.

OH

SOCl, _
—— A (Major Product)

HO CH,OH

Options :
OH
70819171539, O CHoCI
Cl
70819171540. OH  CH,OH

70819171541.



OH

Cl  CH

Gl CH,Cl
70819171542. -

Question Number : 43 Question Id : 70819122126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BN :,-'SJEE A Q Hbodod :

OH

HO  CH,OH

Options :
OH
708191715309. S i Sl S
Cl
OH CH,OH

70819171540.



OH

70819171541, ¢ CHxCI
Cl
Cl  CH,CI
70819171542, .

Question Number : 44 Question Id : 70819122127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify A in the given chemical reaction.

CH,CH,CHO —
O: 2 » A (Major Product)
CH,CH,CHO C,;HsOH, H>5O

A

l] lI ~CHO

Options:

70819171543.

O

!
.|_c
XL

70819171544, l I

70819171545.



CH,CH,COOH

70819171546, CH,CH,CH,0H

Question Number : 44 Question Id : 70819122127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ey Y, Alant el o .
5."2' 5 Barahs "ﬂﬁﬁf Ad I’(ugd"wu“:; :

CH,CH,CHO
NaDH L | o Ly
o J‘*li. (\iﬂmnrj f.?'i’..j;n'!-l_'lm)
CHECHECH’D C,H5;0H, H,0

A

Options :
CHO

Q

70819171543.

]

z:

70819171544.

R

70819171545.

CH,CH,COOH

=

70819171546, CH,CH,CH,0H

Question Number : 45 Question Id : 70819122128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Identify A in the following chemical reaction.

CHO

i) HCHO, NaOH i

ii) CH;CH,Br, NaH, DMF
CH; iii) HI, A
Options :

1

: _C—OCH,CHj,
70819171547, 11O

: _CH,I
70819171548, 110

: _CH,OH
70819171549, 11O

: _CH,OH

CH;0

70819171550.

Question Number : 45 Question Id : 70819122128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



' i) HCHO, NaOH
> A
ii) CH,CH,Br, NaH, DMF
CH;0 iii) HI, A
Options:
1
: _C—OCH,CHj
70819171547, 11O
i _CH,I
70819171548, 11O
: _CH,OH
70819171549, 11O
CH,OH
CH;0" :
70819171550.

Question Number : 46 Question Id : 70819122129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11.

List-1 List-11
Cl
Nz_’ﬂﬂ.l_ L
(a) @'/ LLI;;} +N, (i) Wurtz reaction
Cl

N, *Cl—
(b) @/ 2 C_u,—H(_l} @ +N, (i) Sandmeyer reaction

(c) 2CH,CH,Cl+2Na _ Ether C,H; ~ C,H; +2NaCl(iii) Fittig reaction

(d) 2CHCl4 ONa _ Ether , C;H:—C,H:+2NaCl  (iv) Gatterman reaction

Choose the correct answer from the options given below :
Options :
20819171551, (@) — (i), (b) — (iv), (c) — (i), (d) — (iii)
20819171552, @) = (i), (b) = (i), (c) — (iv), (d) — (i)

70819171553. (a) — (iii), (b) — (1), (c) — (iv), (d) — (ii)

70819171554, (@) — (i), (b) — (), (¢) — (i), (d) — (i1)

Question Number : 46 Question Id : 70819122129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



har-1 9 dar-11 & 2855508

&rtor-1 erdoe-1l
Cl
N A7 cua : e <
(a) Gy P 4N () ofs s&
Cl

N, +Cl- )
(b) Q/ Cu, HCI @ +N, (i) =oEDHE &8

() 2CH;CH,Cl+2Na_Ether  C,H.-C,Hs+2NaCl (i) &R 38

(d) 2C,H.Cl+2Na_Ether CH,~CH,+2NaCl (iv) rr&85HS &5

off ZThm o)seod” NON HTEEND DoH8 & :

T

f(,l'}-'l

Options :
70819171551, (@) = (i), (b) = (iv), (c) — (i), (d) — (iii)

70819171552, (@) = (i), (b) — (i), (¢) — (iv), (d) — (i)

70819171553, (@) — (iii), (b) — (1), (c) — (iv), (d) — (i1)

70819171554, (@) — (iii), (b) — (iv), (c) — (i), (d) — (ii)

Question Number : 47 Question Id : 70819122130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Seliwanoff test and Xanthoproteic test are used for the identification of and
respectively.

Options :
70819171555, aldoses, ketoses

70819171556, ketoses, aldoses

20819171557 Ketoses, proteins



proteins, ketoses
70819171558.

Question Number : 47 Question Id : 70819122130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
20575 $68 $0ckn rosFBE $8E S 58050 0%

MHO0SrE EITRATG.
Options :

70819171555, = =%°

70819171556.

70819171557. T

70819171558, ©

Question Number : 48 Question Id : 70819122131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11.

List-1 List-11
(a) Sucrose (i) P-D-Galactose and B-D-Glucose
(b) Lactose (i) «-D-Glucose and p-D-Fructose
(c) Maltose (iii) o-D-Glucose and o-D-Glucose

Choose the correct answer from the options given below :

Options :
20819171559, (@) = (i), (b) = (i), (c) — (iii)



70819171560, @ — (i), (b) = (i), (c) — (@)

70819171561. {ﬂ] — {]:.], {h] —3 {f_ii], {C] — {]:.i]

Question Number : 48 Question Id : 70819122131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

efar-1 3 dar-11 & 2838508

erdor-1 erdlac-11
(a) PoE°E () P-DreSE S8 B-D-KEEE
(b) o5E (i) aD-r{EE°E S0 B-DFES
oy g 5w at gb 5
() &Srde (i) o-D-1{8= 500 a-D-iieE=
8ol =EhE pysred” {0% esTreni DoH8%a :

Options :
70819171559, (@) = (i), (b) — (i), (c) — (iii)

70819171560, @) = (i) (b) = (i), (c) = ()

70819171562, (@) = (iii), (b) = (i), (¢) — (ii)

Question Number : 49 Question Id : 70819122132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,4-DNP test can be used to identify :

Options:



70819171563, nalogens

70819171564, aldehyde

70819171565, amine

70819171566, Ccther

Question Number : 49 Question Id : 70819122132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
2, 4 DNP 5855 &d@rRod 58030 :

Options :

70819171563.

70819171564,

70819171565.

Satsben
70819171566.

Question Number : 50 Question Id : 70819122133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A. Phenyl methanamine

B. N,N-Dimethylaniline

C. N-Methyl aniline

D. Benzenamine

Choose the correct order of basic nature of the above amines.



Options :

70819171567, 2> B>C>D

70819171568, 0> C>B> A

70819171569, 2> C>B>D

70819171570, P> B>C>A

Question Number : 50 Question Id : 70819122133 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

70819171567, 4> B>C>D

70819171568, 0 >C > B> A

70819171569, 2> C>B>D

70819171570, P> B>C>A

Chemistry Section B

Section Id : 7081911015



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911295
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819122134 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The NaNO, weighed out to make 50 mL of an aqueous solution containing 70.0 mg Na*
permLis g (Rounded off to the nearest integer)

[Given : Atomic weight in g mol 1_Na:23;N:14;0:16]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819122134 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
a8 mL% 70.0 mg Na* &0ttty 50 mL aordedd drdo IS NaNO, g
(65150 Yrorogsin)

[5)3) : e groren g mol leog® -Na:23:N:14:0: 16]
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819122135 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of octahedral voids per lattice site in a latticeis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819122135 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

] P
s M ammas T (YL samgedl  —hpe—m Oy = fF R < P e M B ey s
5 ePOS00" (e ePOS APTPWS S J’;I‘-‘;:i'.a QS . (SPO08 a33re))

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819122136 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

A ball weighing 10 g is moving with a velocity of 90 ms L 1f the uncertainty in its velocity
is 5%, then the uncertainty in its position is  x1073¥ m. (Rounded off to the
nearest integer)

[Given : h=6.63 %103 Js]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819122136 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0 g aBHI) a8 208 90 ms 1 3508 Hbhod. od® & 830 5%, o n::w:‘t el
CHk) o x107%®¥m (esaan SYrorosiin)

(530 : h=6.63x10"34Js]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819122137 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The average S—F bond energy in k] mol ~! of SF, is _ . (Rounded off to the nearest
integer)

|Given : The values of standard enthalpy of formation of SF(g), S(g) and F(g) are - 1100, 275
and 80 k] mol ! respectively.]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819122137 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
SF,% S—F St 20548 KWmol-1es® . (K0 Jropodim)
[2I)3 : (Sdre Hogodod Q,uc;:ﬁéa: SF (@), S(@) 0bdin Far) o &Sk - 1100, 275
0000 80 kJ mol 14 25336
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819122138 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 12.2 g of benzoic acid is dissolved in 100 g of water, the freezing point of solution was
found to be —0.93°C (K¢ (H,0) =1.86 K kg mol 1Y. The number (n) of benzoic acid molecules
associated (assuming 100% association) is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 55 Question Id : 70819122138 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
122 g o BoPanS edipd) 100 go IS LoAcSm (dn HASS Pdo -0.93°C K
gafredod. (I\f{H 0)=1. 86 K kg mol 1) Bo&taw

&

(100% X550 BohHosd @Heod)

o8 2303 (n)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819122139 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The pH of ammonium phosphate solution, if pk, of phosphoric acid and pky of ammonium
hydroxide are 5.23 and 4.75 respectively, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819122139 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



P08 who pk, HOK» eINAAbo TEB)E pk, SHI 5.23 Hdan 475 el
fyfﬁgﬁdbu a‘::‘:?g_:éi ordwo pH

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819122140 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Emf of the following cell at 298 K in V is x> 102,
ZnlZn?* (0.1 M)||Ag™ (0.01 M) Ag

The value of x is __ . (Rounded off to the nearest integer)
' —" o<, 2303RT
[Given:E® ,, =-076V;E® ., =+080V;="——=0.059]
Fn~ [ 7n Ag'/Ag F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819122140 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
208 K 355 806 Deig8 peiso emf, V& xx1072. x e

ZnZn?* (0.1 M)|Ag™* (0.01 M) Ag

(558 SrTrodin)

bt el o SRR
a0 B, =-076V;E . =+080V; =0.059]
] Zn""/Zn Ag'/Ag F

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819122141 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the activation energy of a reaction is 80.9 k| mol ! the fraction of molecules at 700 K,
having enough energy to react to form products is e *. The value of xis
(Rounded off to the nearest integer)

[Use R=831] K~ 1mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819122141 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

B ':554;' &aR848 80.9 kJ mol ~ L, wand 700K, 3¢ ~I§5§ 26A (Bairereoen 3]5;?3 e eero
[ - ) L«

- ) =4

e~ xdend _

[65@rR0K0& R=8.31] K1 mol ]

{ci?”.& Seorosin)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819122142 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In mildly alkaline medium, thiosulphate ion is oxidized by MnOy to “A”. The oxidation
state of sulphur in “A" s .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819122142 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

"’ " = PRT RV IV Sy { el T e L A M 8. wstf . [ p wpAn B
Q.AJL:\.{.\JQ\"J SFOCIFS0oU, .‘\]1104 iw..l"mﬂfl':.- el & “A" *S;Cl&t\“:cuwu urﬁu&. A" &
£ e B e B, Oy
Jb'g @86 08

g 3% ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819122143 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The number of stereoisomers possible for [Co{ox)z{Br](NHﬁ)]z s .

[ox =oxalate]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819122143 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[Co(ox),(Br)(NH,)]2~ £ %T.:S{..-.J\.EJ 1&8Dadas SdyTce  Sogy

[ox = oxalate] ’ -
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
SectionId : 7081911016
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911296
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819122144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the mirror image of the point (1, 3, 5) with respect to the plane 4x -5y +2z=8is (o, B, v),
then 5(c+ +v) equals :

Options :

70819171581, 39

70819171582, 41

43
70819171583.

70819171584, 7

Question Number : 61 Question Id : 70819122144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

$vo 4r-5y+2z=8 &)ps Dok (1, 3, 5) BnE) S\ (H8&oao (a, B, v) ©ONS
Satp+y) =:

Options :

70819171581, 39

70819171582, 41



43
70819171583.

70819171584, &7

Question Number : 62 Question Id : 70819122145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let A=1{1,223, ...,10}and f: A — A be defined as

[k +1 ifkisodd
f(K) = 4

k if k is even
Then the number of possible functions ¢ : A — A such that gof=f1is :
Options :
5!
70819171585.

1{]{:
70819171586. 2

55
70819171587.

70819171588, 10°

Question Number : 62 Question Id : 70819122145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Jkllké?\:@mé
A={1,23,...,10} sbbcin f: A - Aedd f(k)= e Ao ©HEod.
| k k0 oond

O gof= fﬁgJ:Eo N ‘:“:CSKA:IJIS:J S cSeen g:A-Aw ,Juaﬁ,
Options :

70819171585.



1{]{:
70819171586. 5

55
70819171587.

70819171588, 10°

Question Number : 63 Question Id : 70819122146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A, be the area of the region bounded by the curves y=sinx, y=cosx and y-axis in the
first quadrant. Also, let A, be the area of the region bounded by the curves y=sinx, y=cosx,

r-axis and X == in the first quadrant. Then,

Options :
P o e i
20819171589, 41 P Ax=1:2and A, +A,=1

20819171590 A A= \E and A, +A,=1

70819171591, 1= A2 and A+ Ay =2

g — : = :
70819171592, 241~ Az and Ay + Ay =142

Question Number : 63 Question Id : 70819122146 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



208 FGos® Seen y=sinx, y=cost O y-ufovs {,Swfg{axfob o8 Jzego A,

0508, wodsd InsaIGes® S Iy =sin, y=cosx, x=-

LS

Options :

: 4 W e i
20819171589. Al ’ Az—l + 2 SnbBadin Al I Az—l

At A
70819171590.

70819171591. =

— il B s
70819171592. 2A1=A; 000 Ay + Ay =1+ 2

Question Number : 64 Question Id : 70819122147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fO0<a b<1 and tan la + tan ! b= z—'r then the value of
@+ b) a’+ b? I a>+ b’ a*+ pt I )

2 3 4 T ]'_5_
Options :

e
70819171593.

el—1
70819171594,

70819171595, 1082

70819171596.



Question Number : 64 Question Id : 70819122147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0<a b<1 508cn tan la+ tan” ! b= i erers!

| e N 4, 4

(@ + b [alh]l[alh] [alh]l....ﬁmé);}msﬁ:
2 3 = o

Options:

70819171593.
2

70819171594,

>
70819171595, 1082

k|

_ B
lf}gﬁl -
70819171596. hea

Question Number : 65 Question Id : 70819122148 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i
w +y
y \;‘ If the curve
X

Let slope of the tangent line to a curve at any point P(x, y) be given by

intersects the line x +2y=4 at x= -2, then the value of y, for which the point (3, y) lies on
the curve, is:

Options :

03 | =

70819171597.



18

70819171598. 19

18
70819171599, 32

18

11
70819171600.

Question Number : 65 Question Id : 70819122148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

, ¥ LD Ry B
a5 aSoa 38 Sotha)

L 2T G80s. ¢

o L%

i
@
A
i,
O
J-:,_,. o
Cx.
i
Cﬁ
.E‘_

”

=

x+2y=45 x=-238 polR, (3,y) Doty & HBo sotbiyrr yJensd :
(M)

Options :
=
5
70819171597.
E
70819171598. 1o
18

70819171599, 32

15

11
70819171600.

Question Number : 66 Question Id : 70819122149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

o 2 -
The sum of the series S 2 s il is equal to :
~ @20+ 1)
Options :
41 19 _
ks * i
70819171601.
Doy Mo ay
70819171602. & 8
%m l—; =1 10
70819171603.
=g = i

70819171604, 8 8

Question Number : 66 Question Id : 70819122149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e ) X
. n< + 6n+ 10
i3 3

o= =5 e
En:lcﬁzﬁhgu.

(2n+ 1) 3

n=1
Options:
41 19
e e
70819171601.

70819171602.

70819171603.



ﬂe Ee_l 10

70819171604, 8 8

Question Number : 67 Question Id : 70819122150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X
Let f(x)= Iﬂt f()dt + e” be a differentiable function for all x € R. Then f(x) equals :
0

Options:

70819171605. ~

70819171606.
70819171607.

70819171608. ~

Question Number : 67 Question Id : 70819122150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X
i l. ¥ ~ " i & ¥ n i~ P o ]
oxe R o f(x)= [e f(O)dt + ¥ &Bp 28 osbedon Ehad 808, 69t f(x) = :
0

Options :

2e(e*=1) 1
70819171605.

ole¥ ~1)
70819171606.



{_-,.T
70819171607. © 1

20"
70819171608, ¢ 1

Question Number : 68 Question Id : 70819122151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable functionatx=a with f'(a)=2 and f(a) =4. Then Im =
J J J e o

equals :

Options:

7
708191716009.

A",
70819171610, 22
", :
70819171611, 22 T4
a+4
70819171612.

Question Number : 68 Question Id : 70819122151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

lim —:g_f[a] fx) _ -
I—a X—a

Options :

7, .
70819171609, 22 4



. 9,
70819171610, = 2@

70819171611, 22 14

a+4
70819171612.

Question Number : 69 Question Id : 70819122152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 _ L. _n
X —x=2 :
Let f(x)=sin"! x and §(x) = PR L If g(2)= lim g(x), then the domain of the

i X 12

function fog is :

Options :

{ o0, 2] L,_J{ ;,x
70819171613. = e
i ¥ k)
o -2 -3 )
70819171614. 5 R

o0, 1] w2, o

70819171615. ( e )
oo, 2 J 1.—_

70819171616, ¢ 7 AVl =)

Question Number : 69 Question Id : 70819122152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 sy

*“-x-2 o ) (1t ; :
f(x)=sin"1 x S080%0 g(x)= T : w0808, g(2) = lim g(x) wond fog Bng)
; 2x° -x 12 d g

|Sado :
C



Options :

. o
o -2Ju|-2, =
70819171613. I
o0 -5 )
70819171614. 3/
| Bl s | RO L)
70819171615.
r 2 i ]-r-
70819171616, ' 10 )

Question Number : 70 Question Id : 70819122153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A(1, 4) and B(1, —5) be two points. Let P be a point on the circle (x—1)*+ (y—1)*=1
such that (PA)?+ (PB)? have maximum value, then the points, P, A and B lie on :

Options :

70819171617.

70819171618.

70819171619.

70819171620.

an c-IIipsc-

a hj,-'pr_-rl‘:ola

a parabnla

a sh‘aight line

Question Number : 70 Question Id : 70819122153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A(1, 4) 5605 B(1, ~5) o Dooossiol.(PA)2+(PB)2 Jend KO

(x-12+(y-1)2=1 3 Pa¥ DohsoEeld. o) P, A 500 Bew &od
Options :

70819171617.

70819171618.

70819171619, = el -

70819171620, == SECERES

Question Number : 71 Question Id : 70819122154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— A A A —

If vectors ay =xi — j + k and a; = i yj 2k are collinear, then a possible unit vector

parallel to the vector xi 4 y j' - zk is

Options :

1 [ A n_')

- \—jtk
70819171621. V2

1 tf A ,]

— |1 § ok
70819171622. V3

%E k)
70819171623.

= Ll
70819171624. V2



Question Number : 71 Question Id : 70819122154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— A A A — A A A A A A
a; =xi— j+ k 0005w a; =1 +yj +zkew Bod J0Pdh SO&ITB, J0E xi +yj +zk

L RDarodbore ol a8 Chmdd) D6

Options :

L5k
70819171621. \'!:

v e T ]

'.‘

70819171622. \II{_
70819171623, ¥

a9

—jf h 1!

70819171624,

Question Number : 72 Question Id : 70819122155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LetF,(A,B,C) = (AA~B) v [-CA(AvB)]v~Aand F,(A, B) = (Av B) v (B— ~A) be two
logical expressions. Then :

Options:
F, and F; both are tautologies

70819171625.

70819171626. F, is a tautology but F, is not a tautology

70819171627, Fl is not a tautology but F2 is a tautology



Both F, and F, are not tautologies
70819171628. —

Question Number : 72 Question Id : 70819122155 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
F,(A,B,C)=(AA~B)v[~CA(AvB)]v~A0dn Fy(A B)=(AvB)v (B—~A)e B0l
08 S55es%8. o
Options:

T e ) n . - o m:..’ll: oy =
70819171625, F1 080 Fp 00 Dot Qégdésm

70819171626.

70819171627. 1 " @2 )
F, 58050 Fyen Solr Jdghayen 50

70819171628.

Question Number : 73 Question Id : 70819122156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A seven digit number is formed using digits 3, 3, 4, 4, 4, 5, 5. The probability, that number
so formed is divisible by 2, is :

Options :

M]lu.

70819171629.

3|

70819171630.



x]|,_-..

70819171631.

*-.]|,4-_..'

70819171632.

Question Number : 73 Question Id : 70819122156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L i A -r ~ e u w y by w
3,3, 4,445,503 wose:d3d3rhod a8 2808 Ho

sl ¢ ) o \ .
0D SAPHING. v S0 Do
() o) el

T U oy
23 \;;"’ﬂumm{:‘;\)@w PJ\.J\;;';;\.,;::I@ :

o T

Options :

M]lu-

70819171629.

3| o

70819171630.

x]|,_-..

70819171631.

*-.]|,4-_..'

70819171632.

Question Number : 74 Question Id : 70819122157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the fnllnwing system of equations :
x - 2]; 3z=a
2x - 6]; 11z=b

x—2y+7z=c,
where a, b and c are real constants. Then the system of equations :



Options :
70819171633, has a unique solution for all a, b and c

I i ; By
70819171634. has a unique solution when 5a=2b+c¢

70819171635. has infinite number of solutions when 5a=2b+ ¢

70819171636. has no solution for all a, band ¢

Question Number : 74 Question Id : 70819122157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(8ol RabBSere S5 A8 K00
: !
x+2y—3z=a
2x +6y—11z=Db

Options :
0 OFSHOE. 2.8 HBE 5SS Sotnod.
70819171633, & b, cen @Z0ES, &8 58 LN sotnol

=2 eanS5E) HBE S eotnod
70819171634. 5a=2b+c @onIPLD IBE FTHI Godnod

[ L -‘?‘_z‘,:"-ﬂﬁ -:_\"5 L w14
70819171636, & P € &0 9F0HE FES B

Question Number : 75 Question Id : 70819122158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The triangle of maximum area that can be inscribed in a given circle of radius ‘r’ is :
Options :

70819171637, An isosceles triangle with base equal to 2r.

70819171638, A right angle triangle having two of its sides of length 2r and r.

An equilateral triangle of height 2—;
70819171639. :

An equilateral triangle having each of its side of length ﬁ E.
70819171640.

Question Number : 75 Question Id : 70819122158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘v EJ%EEU e {ﬁf_g'a’,Lg'uﬁﬁ woddodnie 185 Sereo Ho (Bdbao :
Options

2r &oedore He al Ssoberssv |Sehao.
70819171637, “antasin HiE. 8IS o) e

or, ren Do Herenr ¥ woaSin (ShHao.
70819171638. : S

2r = Wl . [Ty AL

P e a8 Dderdw (8heso
70819171639, -

70819171640, &+

Question Number : 76 Question Id : 70819122159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let L be a line obtained from the intersection of two planes x+2y+z=6 and y+2z=4. If
point P(a, B, v) is the foot of perpendicular from (3, 2, 1) on L, then the value of 21(c+ + )
equals :

Options:

68
70819171641.

(51

70819171642, 102

36

(=1

70819171643.

,_.
e
=

70819171644.

Question Number : 76 Question Id : 70819122159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Both deren 1+2y+z=600cw y+2z=40 83 Op L&k, (3,2,1)5ok L 28 A2S

woaarto P, B, ) oawd 21 (a+p+y) Devd =

Options :
68

70819171641,
70819171642, 102

70819171643, 136

70819171644.

Question Number : 77 Question Id : 70819122160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let f: R — R be defined as

F =

;Esin( TAW ix=—1
f®) = Yx? 4

ax2 +x+b, if-1=sx=1
| sin(mx), ix >1

If f{x) is continuous on R, then a + b equals :

Options :
70819171645, 2
70819171646,
70819171647, |
70819171648, °

Question Number : 77 Question Id : 70819122160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f:R—=R(80d JFore ARIENDE 08

iy
qu( — | x<-10ws
] \ i

) = 4

f(x) llax2 +x + b, -1 =x = 1 ®cnd

| sin(mx), x>1ewond

R 3 f(x) odH5o0ond, a +b= :

Options :

70819171645, 2

70819171646.

70819171647,



70819171648, °

Question Number : 78 Question Id : 70819122161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the locus of the mid-point of the line segment from the point (3, 2) to a point on the circle,
x> +y?=11s a circle of radius r, then r is equal to :

Options :
1
70819171649, *
1
70819171650, 2
.
?
70819171651, <
1
70819171652.

Question Number : 78 Question Id : 70819122161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Vi i BRI p ¥ Byl B Lo s - w3 ¢ ot
Dothd (3,2) ol x* +1P=13 28 Jothdd 80 Tyrpois) a’mcﬁé 8othsh @n¥) fothaxfo
r eaedore o af SHido wad r =

2" B (I
Options :
1
4
70819171649.

1
70819171650, 2



ha| =

70819171651.

1
70819171652.

Question Number : 79 Question Id : 70819122162 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ylz:Sandyll”l

L

A natural number has prime factorization given by n=2"3%", where y and z are such that
= 5 y > z. Then the number of odd divisors of n, including 1, is :
Options :

70819171653
70819171654 11
70819171655, 12

70819171656, %

Question Number : 79 Question Id : 70819122162 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. - EES - g N il
ytz=508c0n vy +z = g,y >z ﬁ“‘fﬂ D a8 e flu’,y ﬁ.ui:;t‘ RFETPose @8 P
. i &
. & & g =L
n=23Y5 emd 17 SD2EQ dwot n Gs) &N gre
Options :

70819171653.



70819171654. =

70819171655, 12

70819171656, %

Question Number : 80 Question Id : 70819122163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

log,. t ' (1)
For x > 0, if f(x)= -I‘{?B—Iﬁﬂdtr then f(e) 4 f' = | is equal to :
1 e/

Options :

70819171657, U

70819171658.

Yy

708191716509.

70819171660.

Question Number : 80 Question Id : 70819122163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o | “_,T_ . . F10
f(x) = _[{lng—l't]dt,x >0 wond f(e) Ifl EJ —
1

Options :

70819171657, U



70819171658,

N | =

708191716509.

70819171660. :

Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

7081911017
6

Online
Mandatory
10

5

20

Yes

1
7081911297

Yes

Question Number : 81 Question Id : 70819122164 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1

L, ,= Il"“_l{] ,1')”_1 dr, form,n = 1,and I

0
equals

Response Type : Numeric

Evaluation Required For SA: Yes

=aly ,ae R, thena



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819122164 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 1 m-1 n-1
e, b

- _[1']”_1{1 x)" ! dx, form,n = 1,580 —(1 e dr=aly ;,ae R owd
i
0 0

o=
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819122165 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z be those complex numbers which satisfy

745/ < 4and 2(1 +i) +7(1—i)> —10,i = =1 .

If the maximum value of |z+ 12 is « A Iﬂﬁ, then the value of (a+f3) is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 82 Question Id : 70819122165 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
245 < 450a 2(1+H) +2(1 i) > ~10,i = V7T e 83568 $088 Somgen 26
2 +1P @08 K65 DeoS a +ByZ eond, (a+p) T Dend
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819122166 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the normals at all the points on a given curve pass through a fixed point (a, b). If the

curve passes through (3, -3) and (4, 242), and given that 'a_ 2,/2 b=3, then

(@>+b*+ab)isequal to .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819122166 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



8 658 $E0P 58 Dothd Dok AWK edocuByed)) (a, b)rhom Fdhamon 05858, & o
(3, —3) 508650 (4, - 242), © Koot N&r a- 22 b=3, ®ond (a2+b2+ab)=_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819122167 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let a be an integer such that all the real roots of the polynomial
2x° + 504 + 102 + 1022 + 10x + 10 lie in the interval (a, a +1).

Then, |a|is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819122167 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2056 205 +5x4+10x3 41022 + 10x + 10 %) 5% Sarerod) (a, a+1) wodbod® sotéy

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819122168 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
. " . "
Let}(l,)(z, “"Xm be eighteen observations such that l(}(i a) = 36 and l(}(t [5)2 =00,

i=1 i=1
where o and [ are distinct real numbers, If the standard deviation of these observationsis 1,
then the value of @« — | is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819122168 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

18
o, P e Do DY) TR Doggen, Xy, Xy, ..., Xjg @0 BRAa0E HBBede Y (X —a)=36
L g = )
=1
18
. A P ; gl i B o 5 ; p
$Bae ) (X; - B)° = N @ty eTowE L. & Hododo Eddifiodo 1 omd |a - B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819122169 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10 0 | 100
If thematrix A= 0 2 0 |satisfies the equation A*’ + «A"™ +BA={0 4 0| forsome
a0 -1 00 1

real numbers « and 3, then p~« isequal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819122169 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 0 | 100
@5 A=0 2 0 |030A” +aa” +BA=[0 4 0], 0 B o HS Soped

30 -1 001

oGt

a.
(=)

L = =L
203nod, p-a =

e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 87 Question Id : 70819122170 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a and P be two real numbers such that a+p=1 and afp = -1. Let p =(a)"+ (B)",

5 ; B
Py—1=11and p, ,1=29 for some integer n = 1. Then, the value of p, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819122170 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o 000D B 3 Toth RN Joggey atp=1:000w of = -1 vy THEHDE G, asTE
e
=3 — (i1 | — Lo B s . Lyl
n = pn_(u] | (B] r p" 1~ 11 508030 p" ' 1—29 'Eahma pl‘l aJ@a) s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819122171 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of 4-digit numbers whose greatest common divisor with 18 is 3, is

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819122171 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

18 &° I".E’:l:‘-ég, ;:FM""\JJ oo 3 FT;;"?FfJ ) 4 @osSw Jw,,f 5305;;5 s e
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819122172 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the arithmetic mean and geometric mean of the p and g terms of the sequence
16, 8, —4, 2, ... satisfy the equation 432 -9y +5=0, then prisequalia. - . .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 89 Question Id : 70819122172 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. & L
16,8 -4,2 .. o3 3§ R pd HBalw q I Joro wolgsvo, I”omwi;wu [3))
7 o ) L
4 -9 +5=0 ﬁ%% S ptq=___ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819122173 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let L be a common tangent line to the curves dx? 4 91}2: 36 and (2v) {23;)2: 31. Then the
square of the slope of thelineLis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819122173 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

v) ¢ - - g =5 o B M o ¥
S a2 +9y?=36 0d () +(2y)?=31 0% L &% 636 0 oE D, vHW

L Gwg) sren @0 525511.0 I
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001



